as lying along the same line,

to find AB.

oractice and Problem Solving

.r  PROOF Write a paragraph proof.

6. Given: CE bisects ZBED; ZBCE and
ZECD are right angles.

Prove: AECB = AECD
B

D

ZJLK = ZMKL, prove that JK = ML.

- PROOF Write a two-column proof.
' Given: V is the midpoint of YW;

uy || Xw.
Prove: AUVY = AXVW
u
v w
Y
X

11- PROOF Write a flow proof.

- Given: ZA and £C are right angles.
ZABE = /CBD, AE = CD

Prove: BE = 5D

cnnéd by CamScanner

b. If AC = 1300 meters, DC = 550 meters
what is AB? Explain your reasoning.

8. TOYS The object of the toy shown is to make
the two spheres meet and strike each other
repeatedly on one side of the wand and then
again on the other side. If ZJKL = ZMLK and

. BRIDGE BUILDING A surveyor needs to find the distance
from point A to point B across a canyon. She places a

-~ gtake at A, and a coworker places a stake at B on the other

side of the canyon. The surveyor then locates C on the

same side of the canyon as A such that CA | 4B, A fourth

stake is placed at E, the midpoint of CA. Finally,

placed at Dsuch that CD 1 CA and D, E, and B are sited

a. Explain how the surveyor can use the triangles formed

, and DE = 851.5 meters,

a stake is

Extra Practice begins on page 969.

7. Given: /W= 2Y, WZ = YZ,
XZ bisects ZWZY.
Prove: AXWZ = AXYZ

X

z

10. Given: MS = RQ, MS || RQ
Prove: AMSP = ARQP

M

D
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12. PROOF Write a flow proof.
Given: KM bisects ZJML; 4] = £L.
Prove: JM = LM
J K
meter regatta on Lake Powell but is unsure

tance across the lake, the crew members
ures of the lengths of AHJK

Example 3 13. FITNESS A high school wants to hold a 1500?
if the lake is long enough. To measure the dist:
locate the vertices of the triangles below and find the meas

as shown below.

a. Explain how the crew team can use the triangles formed to estimate the distance
FG across the lake.

b. Using the measures given, is the lake long enough for the team to use as the
location for their regatta? Explain your reasoning.

ALGEBRA Find the value of the variable that yields congruent triangles.
14. ABCD = AWXY @ AMHJ = APQJ

c X
(20x—4)°
11 2x+5
1%
B D W

16. THEATER DESIGN The trusses of the roof of the outdoor theater shown below appear to
be several different pairs of congruent triangles. Assume that trusses that appear to lie
on the same line actually lie on the same line.

a, If AB bisects ZCBD and ZCAD, prove that AABC = AABD.
b. If AABC = AABD and £FCA = ZEDA, prove that ACAF = ADAE.

¢. If HB = EB, £BHG = ZBEA, ZHG] = /EAD, and ZJGB = ZDAB, prove
that ABHG = ABEA.
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